Max Flow Problem Algorithm:

Initialization:

(0) on each arc (i,j), write the forward arc capacity on the arc near i and the reverse capacity (or 0 if none) near j.

Algorithm:
(1) find a path from source to sink with positive remaining flow capacity.


if none exists, done.

(2) find the arc on this path with the smallest flow capacity, cmin.

(3) write down the path, and assign the flow cmin to this path.

(4) for each arc in the path, reduce the forward flow remaining capacity by cmin and increase the reverse flow remaining capacity by cmin. These are called remaining capacity since some of the original capacity has already been allocated. The reverse flow capacity must be increased in case the wrong path was selected early in the algorithm and it must later be reversed.
(5) Repeat from step 1.

Solution:
(6) For each path from step 3 above, add the flow cmin to each arc in the path. If an arc already has a flow in the opposite direction, reduce that flow by cmin, possibly reversing the flow on that arc if necessary.
(7) When finished, check to be sure that the entire flow from source to sink has been accounted for.
(8) Now try to find the min cut, which corresponds to the max flow for this network.
